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public class Kakunin®2Q3{

}

public static void main(String[] args) {

System.out.println("JavaDBHA ALY ET | | ") ;
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Q3 byte 128 ~ +127DEEY

float 16w e 2 DIMEFRIE L /ZEE
char EFEE DFEVINISRE
long -2147483648 ~ +2147483647 DEEL
boolean HYEE DR EN R EL
double Unicode TRIRIN/=1XF
int 64E Y E 2 DIHHRBE LB
short BB 2BEDREDAE{RIF
Q4 817H

[ ]int B Z short BUCHALLDEL TV B-DIBED I TN LTS

Q5 public class Kakunin®3Q5{
public static void main( String[ ] args ) {
double x;

float v;

s = 12.5¢
(float)x;

System.out.println( x );

System.out.printin( vy );
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FERRIRE 04

Q1 public class Kakunin®04Q1{
public static void main( String[] args ) {
char a;
String str;

str = new String( );

a="'R";
str = "SofcEBYTLL ! I ";

System.out.println( a );

System.out.println( str );

Q2 public class Kakunin04Q2({
public static void main(String[] args) {
String str = "CAIZBIE";
int x;
x = str.length() ;
System.out.println(str + "OXFHIE" + x + "XFTI");
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Q1 public class Kakunin®5Q1{
public static void main (String[] args) {
int[] tbl;
tbl = new int[3];

tbl[6] = 5;
tbl[1] = 8;
tbl[2] = tbl[0] + tbl[1];

System.out.println(tbl[2]) ;

Q2 class Kakunin®502({
public static void main( String[] args ) {
int[] tbl;
int 1i;

tbl = new int[4];

tbl[6] = 100;

tbl[1] = 260;

tbl[2] = tbl[0] + tbl[1];
tbl1([3] = tbl[2] * 2;

for (i=0; i<4; i++){
System.out.println(tbl[i] );
}
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Q3 public class Kakunin®50Q3{
public static void main(String[] args) {
int[] tbl;
int youso;
int i;

tbl = new int[10];

youso = tbl.length;

System.out.println (youso) ;

}

Q4 “null”i3, 0P EHEFELAIHASTWEWRE | DZETH B,

FE:2RI%8 06

Q1 public class Kakunin@6Q1{
public static void main( String[] args ) {

int x=5, y=10, z;

% = g
X =Y
Yy = z;

System.out.println( "ANBAEDx @ "+x ) ;
System.out.println( "ANBAEDy : "+y );
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Q2 10

Q3 c=a+b/2; # c=(a+b)/2;IfEIE

Q4 O
O
X(x,yEBSPHIETEESH P ALERMICE) false)
O

Q5 public class Kakunin®6Q5/{
public static void main (String[] args) {
int x = -64;
System.out.println( "xM4fE : "+ (x<<2) );

System.out.println( "xM1/8 : "+ (x>>3) );

}

}

Q6 if(y != 10)¢{

x = 3;

}

else(
x = 10;

}
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FEE2RIRE 07

Q1 public class Kakunin07Q1({
public static void main( String[ ] args ) {
int x;

x = -30;

if (x>=0) {

System.out.println( "ZBExFEODKTIT" );
telse{

System.out.println( "ZBExIBOKTI" );

Q2 public class Kakunin®70Q2({
public static void main( String[ ] args ){
int tokuten;

tokuten = 86;

if ( tokuten >= 80 ){
System.out.println( "#TI" );
telse if( tokuten >= 65 ){
System.out.println( "BTYI" );
}else if ( tokuten >= 50 ){
System.out.println( "SI CI" );
lelse{

System.out.println( "R TI" );
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Q3 public class Kakunin®7Q3{

public static void main(

R E R AR

int tsuki;

tsuki = 10;

case 3:
case 4:

case 5:

System.

break;
case 6:
case 7:

case 8:

System.

break;
case 9:
case 10:

case 11:

System.

break;
case 12:
case 1:

case 2:

System.

break;

default:

System.

break;

switch( tsuki ){

out

out

out

out

out

.println (

.println (

.printlin(

.println (

.println (

String]|

] args ) {

"ETIT" );

VEICET ) g

"FATT" ) ;

"EEATT ) ;



Q4 a: fIEMEALIE
b: #ViRLZ#EETHRME
c: #BVEREUIBIZEDNIE
d:  #BWIRLEME TS5

e: i=0
f: i<10
g i++

Q5 public class Kakunin®70Q5({
public static void main(String[ ] args) {
int 1i;

int gokei = 0;

for(i =2 ; i <= 100 ; i += 2 ){
gokei += 1i;
}
System.out.println ("&5HdE" + gokei + "TT, ");

Q6 public class Kakunin®7Q6{
public static void main(String[ ] args) {
int 1i;

int gokei = 6;

i = 2y
while( i <= 100){
gokei += 1i;
i += 2;
}
System.out.println("&5Hd" + gokei + "T3d, ");
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Q7 public class Kakunin®7Q7({
public static void main(String[ ] args) {

int i,5;

for( i =1 ; 1 <=9 ; i++ ){
for( j =1 ; 3 <=9 ; j++){
System.out.print( 1 * j + "¥t" );
}

System.out.println( );

Q8 a: i=1;i<=5;i++
b: j=1;j<=i;j++
c. System.out.print( "¥n")

Q9 fEZEHI1 (whilet8X 2 EH L-15E

public class Kakunin®7Q9
public static void main(String[ ] args) {
int[ ] seiseki ={57,60,89,32,66,77,92,45};
int max = 0;
int min = 100;

int i=90;

while( i < seiseki.length) {

1f( max < seiseki[i] ){

max = seiseki[i];
}
if( min > seiseki[i]) {
min = seiseki[i];
}
i++;

}
System.out.println("&ReRIF" + max + "K I ") ;

System.out.println("&EKFE" + min + "SR TJo ") ;
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public class Kakunin®7Q9 {
public static void main( String[] args ) {
int[] seiseki={57,60,89,32,66,77,92,45};
int max = 0;

int min = 1600;

for( int 1 = 0 ; 1 < seiseki.length ; i++ ){
if ( max < seiseki[i] ){

max = seiseki[i];

if( min > seiseki[i] ){

min = seisekil[i];

}
System.out.println("&ReRE" + max + "KCI. ") ;

System.out.println("RER(E" + min + "KTI ") ;

}

FREDI3 (HisRfortiBX 2 A L 158)

public class Kakunin®7Q9 {
public static void main( Stringl[] args ){
int[] seiseki={57,60,89,32,66,77,92,45};
int max = 0;

int min = 1600;

for( int n : seiseki ) {
if( max < n ){

max = nj;

if( min > n ){

min = n;
}

System.out.println("&eME" + max + "SR Cdo ") ;

System.out.println("&EKE" + min + "SR TJd. ") ;

HERMEREN | A-13



FEE2RIRE 08

Q1 public class Kakunin®8Q1l{
public static void main(String[] args) {
Kakunin®8Q1 instAa;
instA = new Kakunin®@8Q1 () ;

instA.asaNoAisatsul() ;

public void asaNoAisatsu() {

System.out.println("PlFLDTSNET | ) ;

Q2 public class Kakunin®80Q2({
public static void main(String[] args) {

Kakunin®8Q2 instA, instB, instC;
instA = new Kakunin®8Q2() ;

instB = new Kakunin®80Q2() ;

instC = new Kakunin®8Q2() ;
instA.asaNoAisatsul() ;
instB.hiruNoAisatsul() ;
instC.yoruNoAisatsul() ;

public void asaNoAisatsu() {

System.out.println("PlFLODTSNET | ) ;

)
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public void hiruNoAisatsu() {

System.out.println("CAlCBIE | ") ;

public void yoruNoAisatsu () {

System.out.println("CAlFAE ! ") ;

fEE2RRE 09

Q1 public class Kakunin®9Q1{
public static void main(String[] args) {
Gohanl instAa;
instA = new Gohanl () ;
instA.asaGohan () ;

}

public class Gohanl/({
public void asaGohan () {

System.out.println ("BEESEHETTT, ") ;

}

¥publicclass TIRE2 7O Z LRI 7 7 A IVICLET
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Q2 public class Kakunin®90Q2{
public static void main(String[] args) {
Gohan2 instA, instB, instC;
instA = new Gohan2 () ;
instB = new Gohan2 () ;
instC = new Gohan2 () ;
instA.asaGohan () ;

instB.hiruGohan() ;

instC.yoruGohan () ;

public class Gohan2{

public void asaGohan () {

System.out.println("BEBESEHETTT, ") ;

public void hiruGohan () {

System.out.println("EADDERTT, ") ;

public void yoruGohan () {

System.out.printin ("BREBNKETT, ");
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FER2RIRE 10
Q1 public class Kakuninl0Ql({
public static void main(String[] args) {
int kekka;
int suchi = 100;
KakuninleQl instA;
instA = new Kakuninl®Q1l () ;

kekka = instA.nibai (suchi) ;

System.out.println("ELIHIE[" + suchi +"]DEIE" + kekka);

public int nibai (int suchi) {

return (suchix2);

Q2 public class Kakuninl®0Q2{
public static void main(String[] args) {

int suchi = 100;
int kekka;

Kakuninl0Q2 instA;

instA = new Kakuninl®Q2 () ;

kekka = instA.nibai (suchi);

System.out.println("Tgbtw@[" + suchi +"] D" + kekka);

kekka = instA.sanbai (suchi) ;
System.out.println("ELIHIE[" + suchi +"1D3BOIE" + kekka);

)
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public int nibai (int suchi) {

return (suchix2);

public int sanbai (int suchi) {

return (suchix3);

Q3 public class Kakuninl®Q3{

public static void main(String[] args) {

int suchi;

int kekka;

Kakuninl6Q2 instA;

instA = new Kakuninl®Q2 () ;

suchi = Integer.parselnt (args([0]);

kekka = instA.nibai (suchi) ;

System.out.printin("ELIHE[" + suchi +"1DEBHIE" + kekka);
kekka = instA.sanbai (suchi) ;

System.out.println("ELICEE[" + suchi +"1D 3 EBOIE" + kekka) ;

public int nibai (int suchi) {

return (suchix2) ;

public int sanbai (int suchi) {

return (suchix3);

A-18 | FERFERRER
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Q1 public class KeisanStatic{
public static int tashisan(int sul, int su2) {

return (sul+su2);

public static int hikisan(int sul,int su2) {

return (sul-su2);

public class KeisanNomal {
public int tashisan(int sul, int su2) {

return (sul+su2);

public int hikisan(int sul, int su2) {

return (sul-su2);

public class KakuninllQl{
public static void main(String[] args) {

int kekka;

KeisanNomal instA;
instA = new KeisanNomal () ;

kekka = instA.tashisan(100,50) ;
System.out.println("Nomal@bﬂ%fﬁ%% " + kekka) ;

)
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kekka = KeisanStatic.tashisan(106,590);
System.out.println("StaticDMNEKE : " + kekka) ;

kekka = instA.hikisan(160,590);
System.out.println("Nomal DBERBR " + kekka);

kekka = KeisanStatic.hikisan(106,50) ;
System.out.println("StaticDBERR : " + kekka) ;

Q2 public class KakuninllQ2{

public static void main(String[] args) {

R E R AR

int kekka, sul, su2;

KeisanNoma l instAa;

instA = new KeisanNomal () ;

sul = Integer.parselnt (argsl[0]);

su2 = Integer.parselnt (args([l]);

kekka = instA.tashisan(sul, su2) ;

System.out.println("Nomal DIISHER : " + kekka);

kekka = KeisanStatic.tashisan(sul, su2) ;

System.out.println("StaticDMEHER : * + kekka) ;

kekka = instA.hikisan (sul,su2) ;

System.out.println("Nomal DFEHER " + kekka);

kekka = KeisanStatic.hikisan (sul,su2) ;

System.out.println("StaticDFERER : " + kekka) ;
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Qi

public class HensuCheck{

public static int classHensu=0;

public

int instanceHensu=0;

public void plus() {

classHensu++;

instanceHensu++;

public void minus () {

classHensu--;

instanceHensu--;

public class Kakuninl2Q1({

public static void main(String[] args) {

HensuCheck instA, instB;

int

instA

instB

iy

new HensuCheck () ;

new HensuCheck () ;

for (i=0;1<50;i++) {

instA.plus();

instB.minus () ;

System.

System.

System.

System.

out.println ("7 S RAIDL S REH
out.println ("I RAIDAVRAY REH
out.println("YAFREIDLH S REH
out.printin("N¥AFRBIDAVREVAEH .

P "+instA.
I "+instA.

:"+instB.

"+instB.

classHensu) ;
instanceHensu) ;
classHensu) ;

instanceHensu) ;
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Q2 public class Kakuninl20Q2{
public int bunpul[]={6,06,0,0,0,06,06,06,0,0};
public static void main (String[] args) {

Kakuninl2Q2 instA, instB;

int i g

instA = new Kakuninl2Q2() ;

instB = new Kakuninl2Q2() ;

instA.ransu() ;

instB.ransu() ;
for (1=0;1i<10;i++) {

System.out.print ("[" + i + "]1HABOK : ) ;

System.out.println(instA.bunpul[i]+instB.bunpuli]) ;

public void ransu() {
int ret,i;
for (1i=0;1i<10;1i++) {

ret = (int) (Math.random() * 10);

bunpu[ret]++;

R E R AR



FEERRIRE 13

Q1 public class GamePlayer{
public void play(String name) {

System.out.println(name + " CBOFLTC");

public void play(String name, int jikan) {

System.out.println (name + "N 4 jikan + "REEEL FLIC) ;

public class Kakuninl3Q1{
public static void main(String[] args) {
GamePlayer instAa;

instA = new GamePlayer () ;

instA.play ("#8BE7 —L") ;
instA.play ("AY 7 —8@",2);

HRMERES | A-23



Q2 public class Keisan{
public int enzan(int sul) {

return (sulxsul);

public int enzan(int sul,int su2){

return (sul - su2);

public int enzan(int sul,int su2,int su3) {

return (sul + su2 + su3);

public class Kakuninl3Q2{
public static void main(String[] args){
Keisan instA;
instA = new Keisan();
System.out.println("¥iB% I 51ELICER

El
System.out.println("${E 29 8,5 ELICHR
B%3DI111,8,5 BLICHER

SIS

System.out .println ("4

A-24 | FERFEERRER
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Q1 public class Car{
public void drive (int suchi) {

System.out.println( suchi + "KmEYELTZ");

public class Bus extends Car{
public void noseru(int su) {

System.out.println( su + "AFEHFHLIC");

public void orosu(int su) {

System.out.println( su + "ABALFLIZ");

public class PatrolCar extends Car({

public void siren() {

System.out.println ("L VAESLEFLIC);

public class Kakuninl4Q1{
public static void main(String[] args) {

Bus instBus;

PatrolCar instPCar;
instBus = new Bus() ;
instPCar = new PatrolCar();

<))
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instBus .noseru(5) ;
instBus.drive (20) ;

instBus.orosu(3) ;

instPCar.siren() ;

instPCar.drive(10) ;

Q2 public class Kagenzan{

int kekka;

public void tashizan (int sul,int su2) {

kekka = sul + su2;

public void hikizan (int sul, int su2) {

kekka = sul - su2;

public void hyoji () {

System.out.printin ("IBEDHBRE (" + kekka + "1 TI");

public class Shisokuenzan extends Kagenzan{

public void kakezan (int sul,int su2) {

kekka = sul * su2;

public void warizan (int sul, int su2) {

kekka = sul / su2;

)

R E R AR



}
public class Kakuninl4Q2 {

public static void main(String[] args) {
Shisokuenzan instA;
instA = new Shisokuenzan/() ;

instA.tashizan(16,5) ;
instA.hyoji () ;

instA.hikizan(10,5) ;
instA.hyoji () ;

instA.kakezan(10,5) ;
instA.hyoji();

instA.warizan(10,5) ;

instA.hyoji () ;

FESERIRE 15

Q1 public class Bird{

public void idou() {

System.out.println( "RATEEHLETT. " );
}
public void eat () {

System.out.println( "ITHZBNET, " );

public class Suzume extends Bird{

public void eat () {
System.out.println( "BRBEEBNE T, * );
[ <))
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}

public class Penguin extends Bird{

public void idou () {

System.out.println( "JROTHBEILE T, " );
}
public void eat () {

System.out.printin( "BZBNE T, " );

public class Kakuninl5Q1{

public static void main(String[] args) {

Suzume instSuzume;

Penguin instPenguin;

instSuzume = new Suzume () ;

instPenguin = new Penguin/() ;
System.out.println( "XXX[E" );
instSuzume.idou () ;

instSuzume.eat () ;
System.out.println( "N>VFV(E" );

instPenguin.idou() ;

instPenguin.eat () ;

Q2 public class AdultSuzume extends Suzume({

public void eat () {
super.eat () ;

System.out.println( "KAICRD EETBHIBFICEILLET, " );

)
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public class Kakuninl5Q2{
public static void main(String[] args) {

AdultSuzume instSuzume;

instSuzume = new AdultSuzume () ;
System.out.println( "XXX[E" );

instSuzume.idou() ;

instSuzume.eat () ;

}
Q1 public abstract class Arbeit{
int kingaku;
public abstract void calc(int hour) ;

public void hyouji () {
System.out.println( kingaku + "FAFL LI " );

public class Convenience extends Arbeit(

public void calc (int hour) {
System.out.println( "JIYEIZT" +hour + "RE@ETZLI. " );
kingaku = hour *x 1000;

public class CDshop extends Arbeit({

public void calc (int hour) {
System.out.println( "cDY3 W I T +hour + "EREEERLIC, )
kingaku = hour * 850;

)
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public class GasStation extends Arbeit({
public void calc (int hour) {

System.out.println( "AX&Y FT" + hour + "BEBETILI. » );
kingaku = hour * 10606 + 500;

public class Kakuninl6Ql({

public static void main(String[] args) {

GasStation instA = new GasStation() ;
Convenience instB = new Convenience() ;
CDshop instC = new CDshop () ;

instA.calc(3);
instA.hyouji () ;
instB.calc (4) ;
instB.hyouji () ;
instC.calc(2) ;

instC.hyouji () ;

Q2 public abstract class Student({
public void study(int hour) {

System.out.println( "B T" + hour + "RREMABL FLTo " );

public abstract void work (int hour) ;

public class Patternl extends Student{
public void work (int hour) {
Convenience inst = new Convenience() ;

inst.calc (hour) ;

inst.hyouji();

29
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public class Pattern2 extends Student(

public void work (int hour) {
System.out.println( "®FEW%E" + hour + "BELFLIZ. ");

public class Kakuninl6Q2 {

public static void main(String[] args) {

Patternl tomoko = new Patternl();

Patternl tatsuhiro new Patternl () ;

Pattern2 nobuyasu = new Pattern2();

System.out.println( "tomokoMDAEFTT, " );
tomoko.work (3) ;

tomoko.study (3) ;

System.out.println( "tatsuhiroDAETT, " );
tatsuhiro.work(5) ;

tatsuhiro.study (1) ;

System.out.println( "nobuyasuDAEFTT, " );
nobuyasu.work (2) ;

nobuyasu.study (5) ;
}
Q1 public interface Narabikae({
public void sort (int[] data);

public void disp() ;

public class SelectionSort implements Narabikae({
int[] data;

)
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public void sort(int[] data) {
int 1i,3; /IR
int tmp; / / swap BZH

/IANBR GERE)
for( i =6 ; 1 < data.length - 1 ; i++ ){
for( j =1 ; j < data.length ; j++ ){
/ / swap
if( data[i] > datalj] ){
tmp = datalil;
data[i] = dataljl;
datal[j] = tmp;

/124 — U BICHH
this.data = new int[data.length];
for (i = 6 ; 1 < data.length ; i++){

this.datal[i] = datalil;

public void disp() {
for ( int 1 = 0 ; i1 < data.length ; i++){
System.out.print (datal[i] + " ");
}

System.out.println() ;

public class BubbleSort({
int[] data;

public void sort(int[] data) {
int i,3; /IRAR
int tmp; / /swap FAEH

/IXNBR (BEEE)
)
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i-—— ) {

i>0 ;

) {

data.length - 1 ;
J 0 ;
/ / swap
if( data[j] > datal[j+1]
tmp = datalj];
datalj] datalj+1];
datal[j+1] tmp;

for( i

for ( = Jj o< i ; j++

) {

/124 =) RICTH&Hm
this.data

new int[data.length];

for = i++) {

(i 0 ;
this.datali]

i < data.length ;
datali];

public void disp () {
0 ;
System.out.print (data[i]

i < data.length ; i++){

") 5

for ( int 1

n

-5

}

System.out.printlin() ;

public class Kakuninl7Q1{

public static void main( String[] args ) {

int[] data
SelectionSort
BubbleSort

{95,66,39,85,660,28,58,19,18,29,77,33,24};
sortl = new SelectionSort () ;
new BubbleSort () ;

sort2

System.out.println( "ERE" );
sortl.sort (data) ;

sortl.disp () ;

System.out.printlin( "FBHEZIE" ) ;
sort2.sort (data) ;

sort2.disp() ;

<))
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Q2 public class Denwaf{
public String no; /1 BEES

public void tell () {
System.out.println("SF CEETo ") ;

}

public interface Ongaku{

public void listen() ;

public class Keitai extends Denwa implements Ongaku{
public String address; //X—JU7FL X
public void mail () {

System.out.println("X—J)JUCE&E T, ") ;

public void listen() {
System.out.println ("SENEETE T, ) ;

public class Kakuninl7Q2{
public static void main(String[] args) {
Keitai inst = new Keitai();
inst.tell () ;

inst.mail () ;

inst.listen() ;
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FERRIRE 18

Q1 public class BirdFeature({

public void showName () {

System.out.println ("SDJA XKL ET, ") ;

public void about () {
System.out.println ("FEPEMEZRRLE T, ) ;

}

public class Kestrel extends BirdFeature({

public void showName () {

System.out.println ("X HWBN\VY T HERFIOTVRD);

public void about () {

System.out.println ("REPFI-OWTHENY VO ETHI-HKR, 2F T
LTEDZIHDAD. ") ;

}

public class Merlin extends BirdFeature{

public void showName () {

System.out.println ("X HWBN\VY 7SR IF 3 OFVRD);

public void about () {

System.out.println("BARTEBRBDTREICENTEEIRE, ") ;
System.out.println("/\F<BODKES, ") ;

}

public class Dictionary({

public void showBirdFeature (BirdFeature birdFeature) {

birdFeature.showName () ;
<)
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birdFeature.about () ;

public class Kakuninl8Q1({

public static void main(String[] args) {

Dictionary dic = new Dictionary/();
Kestrel kestrel = new Kestrel();
Merlin merlin = new Merlin();

dic.showBirdFeature (kestrel) ;

dic.showBirdFeature (merlin) ;

}
}
Q2 public interface Communication{
public void communicate () ;
}
public class Tiger implements Communication({
public void communicate () {
System.out.println(" S EMNEDDIEBETT, ") ;
System.out.println("R<HOSIHAERTEL & Do ") ;
}
}
public class Mustang implements Communication({
public void communicate () {
System.out.println ("BESFERODERONTT, ") ;
System.out.println("ITHZBV/CHRIS TEFUYEL £Do ") ;
}
}
public class Dolphin implements Communication({
public void communicate () {
<)
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System.out.println ("1 HEOERBRD>ZWVTT, ") ;
System.out.println ("SEBERTBHENTEET, ) ;

public class JavaSafari{

public void challenge (Communication animal) {

animal .communicate () ;

public class Kakuninl8Q2 {

public static void main(String[] args) {

JavaSafari safari = new JavaSafari () ;

Tiger tiger = new Tiger () ;
Mustang mustang = new Mustang/() ;
Dolphin dolphin = new Dolphin() ;

safari.challenge (tiger) ;
safari.challenge (mustang) ;

safari.challenge (dolphin) ;

FES2RIRE 19

Q1 public class Fruit({

String name;

int price;

public Fruit(String name, int price) {
this.name = name;

this.price = price;

public int buy(int cnt) {

return price x cnt;
[ #< )
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public class Kakuninl9Q1({

public static void main(String[] args) {

int total = 9;
Fruit f1,f2,f3;

fl = new Fruit("YAI",100);
f2 = new Fruit ("@&HA",50);
£3 = new Fruit ("S\ED",200);

total = f£1.buy(3) + £2.buy(6) + £3.buy(2);
System.out.println( "&5tlE" + total + "HTT, " );

public class Country({

String name;

double population;

public Country () {
name = "BZ&";

population = 1.3;

public Country (String name,double population) {
this.name = name;

this.population = population;

public void show () {
System.out.println( name + "MAO(E" + population + "f@A
T\‘@-o ) g

)
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public class Kakuninl9Q2 {

public static void main(String[] args) {

Country instl,inst2,inst3;

instl
inst2

inst3

instl.
inst2.

inst3.

= new Country () ;
= new Country("¢@",13.2);
new Country("/r>’P",ll.e);

show () ;
show () ;

show () ;

FERR AR A
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Q1 package kaku20;
public class Syumi{
String hobby;
public Syumi (String hobby) {

this.hobby = hobby;

public void syumiHyouji () {

System.out.println ("#OKE[" + hobby + "] Cd");

package kaku20;
public class Namae({
String name;
public Namae (String name) {

this.name = name;

public void namaeHyouji () {

System.out.println("Z8IE[" + name + "] CI");

public class Kakunin26Q1{

public static void main (String args[]) {

)
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kaku26 .Namae instNamae;

kaku26.Syumi instSyumi ;

instNamae = new kaku20.Namae ("S C CXEB") ;
instSyumi = new kaku20.Syumi ("ZF") ;

instNamae.namaeHyouji () ;

instSyumi .syumiHyouji () ;

Q2 package syoukai;
public class Syumi {
String hobby;
public Syumi (String hobby) {

this.hobby = hobby;

public void syumiHyouji () {

System.out.println("ﬂﬂﬂﬂ&[" + hobby + NG

package syoukai;
public class Namae{
String name;
public Namae (String name) {

this.name = name;

)
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public void namaeHyouji () {

System.out.println("2aI&[" + name + "] CI");

public class Kakunin200Q2{

public static void main (String[] args) {

syoukai .Namae instNamae;

syoukai .Syumi instSyumi ;

instNamae = new syoukai.Namae("S(zcxtE&W;
instSyumi = new syoukai.Syumi ("ZF") ;
instNamae.namaeHyouji () ;

instSyumi .

syumiHyouji () ;

FERRRE 21

Q1 import syoukai.Syumi;

import syoukai.Namae;

public class Kakunin21Q1{

public static void main(String[] args) {

A-42 | FEREERRER

Namae instNamae;

Syumi instSyumi ;

instNamae = new Namae ("S C CABB") ;
instSyumi = new Syumi ("ZAF") ;
instNamae.namaeHyouji () ;

29



instSyumi .syumiHyouji () ;

FER2RIRE 22

Q1 public class Syainil{

public int syainBangou;

public String busyo;

public String namae;

public int kihonkyu;

Syainl (int syainBangou, String busyo, String namae, int kihonkyu) {
this.syainBangou = syainBangou;
this.busyo = busyo;

this.namae = namae;

this.kihonkyu = kihonkyu;

public class Kakunin22Q1 {
public static void main(String[] args) {
Syainl instA;
instA = new Syainl(1,"2%Z","SCCE8",260000) ;

System.out.println("ft8&FS[" + instA.syainBangou + "]");

(
System.out.println("%B%§§5 [" + instA.busyo + "]1");
System.out.println ("3Z8] [" + instA.namae + "]");
System.out.println("EA&¥ [" + instA.kihonkyu + "]");
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Q2 public class Syain2{

private int syainBangou;

private String busyo;

private String mnamae;

private int kihonkyu;

Syain2 (int syainBangou, String busyo, String namae, int kihonkyu) {
this.syainBangou = syainBangou;
this.busyo = busyo;

this.namae = namae;

this.kihonkyu = kihonkyu;

public int getSyainBangou () {

return syainBangou;

public String getBusyo () {

return busyo;

public String getNamae () {

return namae;

public int getKihonkyu () {

return kihonkyu;

public class Kakunin22Q2({

public static void main (String[] args) {

)
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Q3
Q4
Q5

Q6
Q7
Qs

Q9

Syain2 instA;
instA = new Syain2 (1, "&Z8","SCCE",200000) ;

System.out.println HEBS[ + instA.getSyainBangou() + "]1");

("
System.out.println("B8&E [ + instA.getBusyo() + "1");
(l
("

[" + instA.getNamae() + "1");

System.out.println 28]
EHAHKE [ o+ instA.getKihonkyu () + "1");

System.out.println

}

ATERE

private. 1885 F%&L (Z74J)LN). protected. public

private « BUZZAANSDH T XA]EE,

CY iV s B—=/Nyr—UADST U XA]RE,

protected s A=y r—YA BEIUMALTESN Y TINS5 T 7 R AJEE,
public o EQIZIANSHT I XAJEE,

private. 1&iF%&L (FZ74/)LN). protected. public

1B&#F5L (F74/LR). public

abstract o WMBITRAELMIEN, CDUFADSEIEA AL AEERTEHEFTERL,

final o AR (EELTH—N=F1RK)TELEWCEEEMKRTE, CDITXEHEICIUX
2> Z4EIE AT RE,

BREOAVYRERHI N, 12 REZADERETHTIERTRIIEN TEBXU UK,

Q10 BEIVEHEMFEN, 1R ADERETHT ICHERTIIEN TED, FA A AP ER SN

BEICE. ZOTSRETRTDA AL ABTHEVEDDEIFELTHBEIN S,

Q11 - O—HILEEH

XJyRDORBITEETD, ZOAVYRATOABENEL S,

o AVAALREE
TRTDOAVYRDIMBITEE TS, ZM AL ATEICHERESN, FJ5ARDTRTDAY YR
PHBRTED,

o TIREH
TRTDXIYRDHATEZEL. P DOstaticlBEiIN/ZEE, ZOIIXELVERKSh=A
LA ZAERTHBOEREL D,
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Q1 public class Kakunin23Q1{
public static void main(String[] args){

Kakunin23Q1l instA;
int kekka;

instA = new Kakunin23Q1();
kekka = instA.jouzan(Integer.parselnt (args[0]),Integer.parselnt (args(l]));
System.out.println("}ﬁﬂﬁ

Wi
System.out.println ("¥fE2 [" + args[1] + "]");
System.out.println("EEHBR (" + kekka + "1");

" + args[0] + "1");

private int jouzan(int sul,int su2) {

return (sulxsu2);

Q2 public class Kakunin23Q2{
public static void main(String[] args) {

Kakunin23Q2 1instA;
int kekka;

instA = new Kakunin23Q2();
kekka = instA.jouzan(Integer.parselnt (args[0]),Integer.parselnt (args(l]));
System.out.println("ﬁiﬂﬁW [" + args[B] + "]1");

System.out.println("¥fB2 [* + args[1] + "]");
System.out.printin("ESHER[" + kekka + "]");

<))
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private int jouzan(int sul,int su2){

return (sulxsu2);

Q3 public class Kakunin23Q3{

public static void main(String[] args){

Kakunin23Q3 instA;
int kekka=9;

instA = new Kakunin23Q3();
tryf{

kekka = instA.jouzan(Integer.parselnt(args[0]),Integer.parselnt (args[1]));

}catch (Exception e) {

System.out.println("HF CIBOENMESNELIc") ;

System.out.printin("¥fE1 " + args[e] + "1");
System.out.println( ”?511@2 "+ args[l] + "1");
System.out.printn("ESHER[" + kekka + "]");

private int jouzan(int sul,int su2) {

return (sulksu2);
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Q1 public class AisatsuThreadl extends Thread{
AisatsuThreadl (String name) {
super (name) ;
public void run/() {
int i;
for (1=0;1<20;i++) {

System.out.println(this.getName() + " " + 1i);

public class Kakunin240Q1({
public static void main (String[] args) {
AisatsuThreadl threadl, thread2;

threadl = new AisatsuThreadl ("®lEEKD Thread ")
thread?2 new AisatsuThreadl ("CAlCcBldEThread") ;

threadl.start () ;
thread2.start () ;

}
¥ 7F5ZKeyboardinput DV —R I ARFESRBOIE
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Q2 public class AisatsuThread2 extends Thread{
AisatsuThread2 (String name) {
super (name) ;
public void run() {
int 1i;
for (1=0;1<20;1i++) {
System.out.println(this.getName() + " " + 1i);
try{

Thread.sleep(200) ;

}catch (Exception e) {

public class Kakunin24Q2{

public static void main(String[] args) {

AisatsuThread?2 threadl, thread?2;

threadl = new AisatsuThread?2 ("®ldKD Thread ");
thread2 = new AisatsuThread2 ("_AlCHlE Thread") ;

threadl.start () ;
thread2.start () ;
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Q3 public class AsaThread extends Thread{
String moji;
AsaThread (String moji) {
this.moji = moji;
public void run/() {
int 1i;
for (1=0;1<20;i++) {
System.out.println(moji + " " + i);
try{

Thread.sleep(200) ;

}catch (Exception e) {

public class HiruThread implements Runnable{

String moji;

HiruThread (String moji) {

this.moji = moji;

public void run() {

int 1i;

for (i=0;1<20;i++) {

System.out.println(moji + " " + 1i);
try{

)
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Thread.sleep(200) ;

}catch (Exception e) {

public class Kakunin24Q3({

public static void main(String[] args) {

AsaThread threadl;

HiruThread instA;

Thread thread?2;

threadl = new AsaThread ("®lEEKD Thread ");

instA = new HiruThread (" AlCHIEThread") ;
thread2 = new Thread(instA) ;

threadl.start () ;
thread2.start () ;

FERR AR A
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Q1 import java.util.LinkedList;
public class QueueList<T>({
LinkedList<T> list;
QueueList () {

list = new LinkedList<T> () ;

public int enqueue (T youso) {
list.addLast (youso) ;
System.out.println("ﬂSﬁDLJC§§3§1 " + youso) ;
return list.size();

public T dequeue(){E ret =list.getFirst();
System.out.println("ERUBLTIZEZR | " + ret);

list.removeFirst () ;

return ret;

public class Kakunin250Q1{
public static void main (String[] args) {
QueueList<Integer> list;
list = new QueuelList<Integer>();
list.enqueue (1) ;

list.enqueue(2) ;

list.enqueue (3) ;

<))
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list.dequeue() ;
list.dequeue () ;

list.dequeue() ;

Q2 public class Kakunin25Q2({
public static void main(String[] args) {

Queuelist<Integer> quelist;
StackList<Integer> stacklist;

int 1;

quelist = new QueueList<Integer> () ;

stacklist = new StackList<Integer> () ;

/1 T—ROEH (3ER)
System.out.println("Fa21—(CT7—X%ZBHOLET");
quelist.enqueue (1) ;
quelist.enqueue(2) ;

quelist.enqueue(3) ;

System.out.println("XRAVOICT—RZBOLET") ;
stacklist.push (1) ;
stacklist.push(2) ;
stacklist.push(3);

[/ T—ROBRUYEBL
System.out.println("F21—NH57—REFRMULBLFT");
for (i=0;1<3;1++) {

quelist.dequeue () ;

System.out.println("XXVIODST—REZRUBLET");
for (i=0;i<3;i++) {

stacklist.pop () ;
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Q3 public class KakuninClassl({

public int atai;

KakuninClassl (int atai) {

this.atai = atai;

public class KakuninClass2{

private int atai;

KakuninClass2 (int atai) {

this.atal = atai;

public int getAtai () {

return atai;

public class KakuninClass3{

public void hyouji () {

System.out.println ("R >R 3 TI");

import java.util.ArrayList;

public class Kakunin25Q3{

public static void main(String[] args) {

ArrayList<Object> list;

)
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Q1

list = new ArrayList<Object> () ;

list.add (new KakuninClassl (10)) ;
list.add (new KakuninClass2 (20)) ;

list.add (new KakuninClass3()) ;

KakuninClassl classl = (KakuninClassl) list.get (9) ;
System.out.println ("8 >R |1 Matai : " + classl.atai);
KakuninClass2 class2 = (KakuninClass2)list.get (1) ;
System.out.println ("3RS5 R 2 Datai : " + class2.getAtai());
KakuninClass3 class3 = (KakuninClass3) list.get(2);

class3.hyouji();

import java.io.x;
public class KeyboardInput {
String buff = null;

BufferedReader inputKB;

public String inputKeyboard/ () {

inputKB = new BufferedReader (

new InputStreamReader (System.in)) ;

try{
buff = inputKB.readLine() ;
}catch (IOException e) {
System.out.println("KBL>—");
}

return buff;

<))
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public class Kakunin26Q1{
public static void main(String[] args) {
KeyboardInput input;
String name, kaisu;
int 1;

input = new KeyboardInput () ;

System.out .print ("BRIZANL TZS=WO=->") ;

name = input.inputKeyboard() ;
System.out.print ("B E ANHL T IESWO-—>");
kaisu = input.inputKeyboard() ;

System.out.println("sxx SHOHERRLEFT *xx");
for (i=0;i<Integer.parselnt (kaisu) ;i++) {
System.out.println (name) ;

}

System.out.println ("*s**FRRZR YL ELToxxx");

Q2 import java.io.x;

public class Kakunin26Q2{

public static void main (String[] args) {

BufferedWriter buffw = null;
KeyboardInput input;

String name, kaisu;
int i;
try{

buffw = new BufferedWriter (

new FileWriter ("kakunin24.txt"));

input = new KeyboardInput () ;

)
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System.out.print ("ZAIZ AL TS O->") ;
name = input.inputKeyboard() ;
System.out.print ("B EADL TIIZSO->") ;

kaisu = input.inputKeyboard() ;

System.out.println("sxx SHOERRLEFT *xx");
buffw.write ("sxxx SHORRKLET **xx");
buffw.newLine () ;
for (i=0;i<Integer.parselnt (kaisu) ;i++) {
System.out.println (name) ;
buffw.write (name) ;
buffw.newlLine () ;
}
System.out.println ("**+FXRZxR YL FLToxkxx");
buffw.write ("sxx AR Y L ELTTxxx") ;
buffw.newLine () ;
}catch (IOException e) {
System.out.println("EZAALS—TCI");
}finally{
try{
buffw.flush() ;
buffw.close() ;

}catch (Exception e) {
System.out.println ("R YIEBI>—TT");
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Q3 import java.io.*;

public class Kakunin26Q3{

public static void main(String[] args) {

KeyboardInput  input;
String atai;

int sul, su2,work, gokei,kaishi, main;

input = new KeyboardInput();

try{
System.out.print (" | DEOEBAEANL TLIZSWO->") ;
atai = input.inputKeyboard();
sul = Integer.parselnt(atai);
System.out.print (" 2 DEBDOEBAEANL TLIZSWO->") ;
atai = input.inputKeyboard();

su2 = Integer.parselnt(atai);

if (sul>su2) {

work = sul;
sul = su2;
su2 = work;

kaishi = sul;
for (gokei=0;kaishi<=su2;kaishi++) {
gokei += kaishi;
}
System.out.printin("[" + sul + "]1H5" + "[" + su2 + "1ECOEET " + gokei );
}catch (Exception e){

System.out.println("BEUSDIADENEZLIC) ;
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Q1 import java.sql.x;

import java.util.ArrayList;
public class DBSelect({

static final String selectAll = "SELECT x FROM eigo";

ArrayList<Gakusei> selectAll () {

ArrayList<Gakusei> listRet = null;
int tensuu = 0;
String number , name;
Connection con = null;
Statement stmt = null;
ResultSet rslt = null;

listRet = new ArrayList<Gakusei> () ;

try{
Class.forName ("sun. jdbc.odbc.JdbcOdbcDriver") ;
con = DriverManager .getConnection ("jdbc:odbc:TestIJDBC") ;
stmt = con.createStatement () ;

rslt = stmt.executeQuery(selectAll) ;

while(rslt.next ()) {
number = rslt.getString ("bangou") ;
name = rslt.getString("simei") ;

tensuu = rslt.getInt ("tensuu") ;

listRet.add (new Gakusei (number,name, tensuu)) ;
}
}catch (Exception e) {
e.printStackTrace () ;
}finally{
try{
stmt.close() ;

con.close();

<))
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}catch (Exception e) {

e.printStackTrace () ;

}

return listRet;

public class Gakusei{

private String bangou;
private String name;

private int tensuu;

Gakusei (String bangou, String name, int tensuu) {
this.bangou = bangou;
this.name = name;

this.tensuu = tensuu;

public String getBangou () {

return bangou;

public String getName () {

return name;

public int getTensuu/() {

return tensuu;

import java.util.ArraylList;

public class Kakunin27Q1{

public static void main(String[] args) {

<))
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ArrayList<Gakusei> kekka = new ArrayList<Gakusei> () ;

DBSelect sqglSelect = new DBSelect () ;
kekka = sqglSelect.selectAll () ;

for(int 1 = 0;i<kekka.size();i++){

Gakuseil inst;

inst = kekka.get (i) ;
System.out.print (inst.getBangou() + " ");
System.out.print (inst.getName () + " ");

System.out.println(inst.getTensuu() + " ");

Q2 import java.sql.x;
public class DBInsert({

static final String insertData = "INSERT INTO eigo VALUES(?,?,?)";

public void insert (Gakusei gakusei) {

Connection con = null;
PreparedStatement stmt = null;

int rslt;

try{
Class. forName ("sun. jdbc.odbc.JdbcOdbcDriver") ;
con = DriverManager.getConnection ("jdbc:odbc:TestIJDBC") ;

stmt = con.prepareStatement (insertData) ;

stmt.setString (1, gakusei.getBangou()) ;
stmt.setString (2, gakusei.getName()) ;

stmt.setInt (3, gakusei.getTensuu()) ;

)
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rslt = stmt.executeUpdate() ;

System.out.println ("sx*x*x | FETFT—XZBIL FLIZ sxkxx") ;
System.out.println("");
}catch (Exception e) {
e.printStackTrace () ;
}finally{
try{
stmt.close() ;
con.close();
}catch (Exception e) {

e.printStackTrace() ;

public class GakuseiCreate{

Gakusei gakusei;

public Gakusei gakuseiIn() {

R E R AR

String bangou, simei;
int tensuu;

KeyboardInput instKbin = new KeyboardInput () ;

System.out.print ( nSPEES > ;
bangou = instKbin.inputKeyboard() ;
System.out.print ("KZ-->");

simei = instKbin.inputKeyboard() ;
System.out.print("§ﬁﬁ——>");

tensuu = Integer.parselnt (instKbin.inputKeyboard()) ;

return (new Gakusei (bangou, simei, tensuu)) ;



import java.util.ArraylList;

public class Kakunin27Q2 {

public static void main(String[] args) {

ArrayList<Gakusei> kekka = new ArrayList<Gakusei> () ;
DBSelect sglSelect = new DBSelect () ;

DBInsert sqglInsert = new DBInsert () ;

GakuseiCreate instCreate = new GakuseiCreate() ;
Gakusei instGakusei;

int i;

kekka = sqglSelect.selectAll();

for (Gakusei inst : kekka) {

System.out.print (inst.getBangou() + " ");
System.out.print (inst.getName() + " ");
System.out.println(inst.getTensuu() + " ");

}
System.out.println("s**%% £[" + kekka.size() + "1 sxxxx");

System.out.println("") ;
instGakuseil = instCreate.gakuseilIn();
sglInsert.insert (instGakusei) ;
kekka = sqglSelect.selectAll () ;
for (Gakusei inst : kekka) {
System.out.print (inst.getBangou() + " ");
System.out.print (inst.getName () + " ");

System.out.println(inst.getTensuu() + " ");

}
System.out.println("s**%% £[" + kekka.size() + "1 sxxxx");

System.out.println("") ;
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FESERIRE 28

Q1 import java.awt.x;

import java.awt.event.x;

import javax.swing.x;

public class Kakunin28Ql extends JFrame implements ItemListener,ActionlListener{

private FlowLayout flow;

private JTextField text;

private JButton button;

private ButtonGroup btngrp;

private JRadioButton rbtnl,rbtn2,rbtn3;

private String moji;

private Container cntnr;

Kakunin28Q1 (String title) {

super (title);
setBounds (200,2600,350,2600) ;

public static void main(String[] args) {

Kakunin28Q1 dodai;

dodail = new Kakunin28Q1 ("Kakunin28Q1");
dodai.junbi () ;

dodai.setVisible(true) ;

void junbi () {
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cntnr = getContentPane() ;
flow = new FlowLayout () ;

cntnr.setLayout (flow) ;

btngrp = new ButtonGroup() ;
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rbtnl = new JRadioButton("HIB", false);
rbtn2 = new JRadioButton ("L VF", false);
rbtn3 = new JRadioButton("A &X'V, false);
text = new JTextField(20);

button = new JButton("SERSNTODDE?");

btngrp.add (rbtnl) ;
btngrp.add(rbtn2) ;
btngrp.add(rbtn3) ;
cntnr.add(rbtnl) ;

cntnr.add (rbtn2) ;
cntnr.add(rbtn3) ;
cntnr.add (button) ;
cntnr.add (text) ;

setDefaultCloseOperation (EXIT_ON_CLOSE) ;
rbtnl.addItemListener (this) ;
rbtn2.addItemListener (this) ;
rbtn3.addItemListener (this);
button.addActionListener (this) ;

public void itemStateChanged(ItemEvent e){
moji = ((JRadioButton)e.getItemSelectable()).getText();

public void actionPerformed(ActionEvent e) {
if (moji != null){
text.setText ("&kL | " + moji + "lcL&D I ");
telse({
text.setText ("2~A fHICLELD?");
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FEE2RIRE 29

Q1 import java.applet.Applet;
import java.awt.Graphics;
import java.awt.Button;
import java.awt.Choice;
import java.awt.Color;
import java.awt.event.ActionListener;
import java.awt.event.ItemListener;
import java.awt.event.ActionEvent;

import java.awt.event.ItemEvent;
public class Kakunin29Ql extends Applet implements ItemListener,ActionListener{

private Choice houseChoice;

private Button kenchiku;

private Button clear;

private String[] itemHouse = {"JBZ2v "FiRr, nBEr vRv);
private int x[] = { 175,75,275 };

private int y[] = { 96,200,200 };

private int index=-1;

private boolean clearFlg = false;

public void init(){

int 1i;

houseChoice = new Choice();
kenchiku = new Button("BZ");

clear = new Button("ZYU77");

for (i=0;1i<4;1i++) {

houseChoice.addItem(itemHouse([1]);

add (houseChoice) ;

add (kenchiku) ;

add(clear) ;
kenchiku.addActionListener (this) ;

clear.addActionListener (this) ;
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houseChoice.addItemListener (this) ;

public void paint (Graphics g) {

if (clearFlg == true) {

g.setColor (getBackground()) ;

g.fillRect(0,0,getSize().width,getSize() .height);

clearFlg = false;
telse{

switch (index) {

case 0: / /1B
g.fillRect(220,130,20,50);
break;

case 1: =

g.setColor(Color.red);
g.fillPolygon(x,vy,3);
break;

case 2: /1B
g.setColor (Color.blue);
g.fillRect(106,2600,156,100);
break;

case 3: /17
g.setColor (Color.white) ;
g.fillRect (150,225,50,480) ;

(

(
g.setColor(Color.black) ;
g.drawLine (175,225,175, 265) ;
g.drawLine (150,245,200,245) ;
break;

default:

break;

public void update (Graphics g) {
paint(g);
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public void actionPerformed(ActionEvent e) {
if (e.getSource() == kenchiku) {
if (index == -1){
index = 0;
}
telse{

clearFlg = true;

}

repaint () ;

public void itemStateChanged(ItemEvent e) {

index = ((Choice)e.getSource()).getSelectedIndex();

<HTML>

<applet code="Kakunin29Ql.class" width=500 height=400>
</applet>

</HTML>
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